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MK2P 8PIN/MK3P 11PIN

DESCRIPTION / FEATURES

10A Contact operating capacity
Mechanical life = 100000
With 27,37 contact models
Standard tube terminal

With matched socket

MAIN TECHNICAL DATA

RELAY

Contact Ratings 2z 3z
Contact Resistance 50mQ(1A 6VDC) 50mQ(1A 6VDC)
10A 10A/5A(NO/NC)
Contact capacity
28VDC/250VAC 28VDC/250VAC

Insulation Resistance

500MQ, 500VDC

Between coil and contacts

1,000 VAC at 50/60 Hz for 1
min.

Dielectric Strength

Between contacts of the same polarity

1,500 VAC at 50/60 Hz for 1
min.

The power to protect
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Operation time AC: 20 ms max., DC: 30 ms max.
Coil Ratings
Rated Coil Power 1.5W/2.5VAC
Rated Voltage Pull-in Voltage Release Voltage Coil Resistance
VDC VDC VDC 0Q:+10%
6 4.8 0.6 24
12 9.6 1.2 96
24 19.2 2.4 384
48 384 4.8 1540
100 80.0 10.0 9600
110 88.0 11.0 9650
Rated Voltage Pull-in Voltage Release Voltage Coil Resistance
VAC VAC VAC 0Q:+10%
6 4.8 1.8 5.5
12 9.6 3.6 21.5
24 19.2 7.2 72.0
48 384 11.4 420
110/120 88.0 36.0 1512
220/240 176.0 72.0 6050/7200

DIMENSIONS AND MOUNTING

52

MK3P2-1

-

MK3P5-1
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ENGINEERING DATA

MK2P

Endurance Curve

1,000
2
S 500y
o N\ 220 VAC resistive load
N

5 NN -
=) \\( 24\VDC resistive load
x 100 AN
2 50 z
E B
=% 24\DC inductive load ﬁ —
o
= (LR =17 ms) | 7
2 G 20VAC inductie bad
E (cos 6=04)
=
= B

1

0 1 2 3 4 5 B8 7 8 9 10

Contact current (A)
MK3P

Endurance Curve

1,000

1

i
I
13

500

100

/ |

220 VAC resistive load

144

/

24 \V/DC resistive load

/
/

Y
/

w
(=]

Findu
(LR

| 24VDC

ctive loa
7 ms)

e
/

d

/
/

-
=]

Number of operations (x10* operations)

load (cos ¢ = 0.4)

4]

220 VAC inductive

3

4
Contact current (A)

5

Maximum Switching Capacity

Contact current (A)

h ——H
AC resistive load
3 ¥
N N
:\“:-\ N
a\l N
DC resistive load % nis nd/
| | | | inductive
! 1 OC inductive lﬁad——é; load (cos 6 = 0.4)
T (UR =7ms)
0.5 \
\\‘
;‘\
0.1 \\‘
Al
h |
B 50 100 500 1,000
Contact voltage (V)

Maximum Switching Capacity

Contact current (A)

10
73 o
AC resistive load
=
?&“\_‘
\ N
1 DC resistive load —Y - :
\\F AC inductive load
\ L (cos p=04)
05
ri
\
71 TN
DC inductiveload | | N
(LR =7 ms) \\
\
0.1 N
b
N
N
SN
5 10 50 100 500 1,000

The power to protect



